HW Quiz A 3.3-3.4 Name

Find dy/dx.
y=3x%+2x3-8

) A)12x3 + 6x2 -7 B)4x3 + 3x2 - 7 @x?’ +6x2 D) 4x3 + 3x2

Find the horizontal tangents of the curve,
2) y=x2 - 10x + 33
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Find dy/dx.

3) y=(8x~5)(2 - 6x3) 4 \
z lbx -4 Ox¥~10 +DO%
&y _ (B f180) +6-6x3\(8Y) 3

d l_ -
x: “144 53+ FOXT +16 - 48y 3 4y =16 - 198x™ + 90 %%

~192%x S + 902+

2
X
4)ng--!?»x

Y= le-8e\ (2nY - M-8 N IR S T Ny |
/6“8.\6)1' Le-6xy> /6"’8‘0?

Find the equation of the line tangent to the curve at the given value of x.
5)y=10x2+9x at x=35
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Find dy/dx.

B) —20x~1 + 24x2 C) -20x~3 + 24x2
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10} v = 15x cos x - 15 sec x

C) 7x6 - cse x cot x

8! = 6% C’é‘ia\}% + 60'5}‘063 - 155,%0{(’_{&“1

D) 7x0 + cox2x







HW Quiz /ﬁ Chain Rule \% Name

Find dy/dx.
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Suppose that the functions Tand g and their derwatwes withrrespeettoschave-the follvwing valuey attlwe
given values of x.
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a) Find the derivative with respect to x of the given combination: g(£(0)
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b) Find the value of the derivative at x=4.
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Find the derivative of the given function.
S 1) y=3sin-1 (5x4)

9'z 3L L 20x% 60x3 60y 3
) ——

Ji-e |- 2.8

2)y=31 cos~1 (Zt]
. ~6.)
\0 =
V) = g2
Dy=unt gz arcln () 2

L \ | -ty -
‘(3 — 5% & 5

| 5 - ,
2 (0 4*5%)

Find dy/dx.
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